mini Crostic Puzzle 376
On TV tonight, Jessica Simpson and Dennis Rodman discuss nuclear physics.

1A 2B 3D 4A 5K 6l 7K 8H 9K 10H |110 |121 13D |14E 151
16K |17H |18G 19J |200 21G [22C (23] 24M  [25L 26D [27B [28E |29A 30J
31A [32H 330 |34L |35D |[36M 37C (380 390 [40E [41F [42K 43E [44] (45K [460
A47A |48F |49C |50H [51B 52A [53J [54M 551 56B [57A 58M [59J |60A [61L
62A [63K [64M [650 |66E [67G |68D |69N 700 |71E 72C (730 [74H 75D |76C
77D [78E [79H 80G (810 (82N 83A (84l 850 ([86C (87J 88K [89G 90A [91G
92E (93D (940 [95C |96N |97J 980 [99H 100L |101H 102D |103I 104K |105D |106B
107G |108E |109H |1101 |[111A (112J 1130 |114J 115L |116J |117M |118D |119C 120C |121IN |122D
1231 |124F |125J |126E 127M |128A |129J |130H |131D 132A |133H |134N 135D |136J |137N

1381 |139F |140C (141G |142A 143B |144C |145H [146N |147A

A. Popular winter tune N ——————
83 142 1 57 132 47 111 29 90 147128 4 52 31 62 60
B. Delicate; finicky N —
143 56 27 2 106 51
C. Neil Diamond hit I ————
120 49 86 37 95 72 22 119 140 144 76
D. Smoked liverwurst N ————
122 131 102 105 68 135 35 77 26 93 75 13 3 118
E. Taste especially great e ——
66 78 71 28 40 43 14 92 108 126
F. Genesis man .

G World Series champs at
" last 21 107 67 18 141 89 80 91

H. Completely; hopelessly e
10 130 17 50 99 145 32 109 133101 8 74 79

I. Resident of San Quentn
110 12 15 55 138 123 23 84 103 6

J. Fox Mulder -
129 30 44 19 97 87 136 125 53 59 116 114 112

K Have serious
' consequences 16 88 42 9 7 45 5 104 63

L. Neutral hue e
M. Capital of Cameroon e —

N Artless, innocent young
© woman 146 82 69 134 137 121 96

o Author of Waverley and
" Kenilworth 38 11 46 81 70 73 98 85 33 20 94 113 65 39
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